1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

Important Note :

50, will be treated as malpractice.
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Briefly explain the dlfferenL:c s of operating system, spee‘ifymg the primary concern and
key concepts used. 2 74 » 4 (10 Marks)
In MPOS 1/0 bound p@bﬁams should given higher priority than CPU bound programs

>

justify with timing d@%\am (06 Marks)
8y
;‘“(‘% W’p
Define process chtrél block, explain its cot tent (08 Marks)
What is a threa}l’? Compare kernel and uf (08 Marks)
y 4 ,;@OR
Compar non preemptlve and pree ptlve scheduling. (08 Marks)
Witht neat block diagram explain : \fedulmg in a time (08 Marks)

» ” Module-3
Describe fixed and variable partltloned contlgu

their merits and demerits “"%" (08 Marks)
Explain the non contigu (08 Marks)
(08 Marks)

For the follong'page reference s}gr"
i) Number of page frames are three”

ii) N ffber of page frames aré\faur
y % (08 Marks)

Wlth a neat diagram, exp n the facilitiespre ‘:glded by file system and IOCS layers. (08 Marks)
xplain the dlfferentx operatlons perform”& é&n files. (08 Marks)
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(08 Marks)
(08 Marks)
’ Module S
n Of‘message passing in detail. (08 Marks)
Explain the interposé: sommunication in UNIX by pipe, message queue and socket
technique. e (08 Marks)
OR
¢ck?Explain dead locks in resource allocation. (08 Marks)
Explaln dead lock detection algorithm. (08 Marks)
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